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1. Choose the correct answer : 10
I IW ST

@)

"It may be defined as the science in which the principles and

methods of economics are applied to the special conditions of

agricultural" :
(A)  Gray (B) Hibbard
(C)  Howard (D) Wallace

Feit e fafvme afifterdian stdvrETt aa onft ggd @] IR I
WU FH U I RV WA I ?

A T (B) fesare
(C) @ (D) dfe™
P.T.O.

86FESFDE3068E36A4773C9158AD3FF27



WT

(i)

(ii2)

(tv)

(v)

( 2 ) B—324-2017

Which of the following is the major source of income of Indian

people ?

(A) Agriculture (B)  Industry
(C)  Service (D) Tourism
IRANTA AR 3cq-d & |89 S ?

(A) el (B) @M
(C) & (D) WA

Which is the characteristic of modern agriculture ?
(A) Nature of commercialization

(B)  Multiple crop system

(C)  Irrigation facilities

(D)  All of the above

sMYfeh I ATl FIv ?

(A) O W&y (B) iU dgdl

(C)  TH=m gfaen (D) ={ietient &e

Which of the following is related to blue revolution ?

(A)  Milk production (B)  Fisheries production
(C)  Oil seeds production (D) Poultry

feTshTct eiaTdeh! el Fafed oe ?

(A) T IARA (B) U 3cdIEH

(C) dafsEn Scared (D) kR TIeld

Which of the following is not cause of low agricultural productivity in
India ?

(A)  Small holding

(B)  Burden of population

(C)  Modern technique of production

(D) Dependency on monsoon
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RATE SAe . SaRehdd eede! S SR @ 2
(A) TR ERT & (B) @&l R
(C) W IURA (D) A ={a Heafo

Which of the following is main source of irrigation in Indian

agriculture ?

(A) Canals (B)  Well and tubewells
(C) Ponds (D) River

IR St fo=AmT qEden! Y@ €id i TR ?

(A)  HIeE (B) fafedi & sumfernt
(C) qod (D) 7=

.................. is include in the concept of gardening

(A)  Horticulture (B)  Floriculture

(C)  Vegetable production (D)  All of these

SO foE (SMTEW) W EEEER = TR A

(A) AR (B) RARARA

(C)  WTSTTer 3cUTeH (D) et wd

Which of the following is the type of agricultural budgeting ?
(A)  Partial Budget (B) Total budget

(C)  Both (A) and (B) (D) None of the above

It STRTSTIARE JETURT IV YRR 3T 2
(A)  efires SrefEehed

(B) uRgul Y e

(C)  (A) & (B) Tr=i

(D)  Sest

P.T.O.
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(ix) In recent periods the use of fertilizers is .......c..ccocceiiiiiis in Indian
agriculture.
(A) Increasing (B)  Decreasing
(C) Constant (D)  None of these
sfAhete Head IRAE Ui AR Sidren arog
(A) @Ted e (B) wH W M
(C) Ter = (D) et A
(%) Choose the odd word :
(A) Mango (B)  Banana
(C) Tomato (D) Grapes
CHCIRCANEC A
(A) e (B) Hat
(C) W D) &
Theory
Explain the disadvantages of traditional agriculture ? 10

IRUTR e dle T .
Or
(fenam)
Explain the importance of horticulture in Indian agriculture ?

HAIIEA™ YRAE It SAdid e 5 .

Explain the role of subsidies in Indian agriculture. 10
AT FEHEA STIGHET fHehT fowg .
Or
(fenam)

State the remedies to increase the agricultural productivity in India.

YR It ScACehdl ARauardasl SurE §.
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4, Write short notes on (any two) : 10
(@) Nature of Indian agriculture
(ir) Floriculture
(@i1))  Technical change in agriculture

(v)  Irrigation.

e feur foer (Foad )

@) TR T ey
i) — pelaRd
(i) VA qieh agd
(v) A=
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